Svenska Bridgeférbundet
Simultan Dagtid 2017-04-12

Partavling, 53 bord, 103 par. Antal brickor: 24. Medel: 1174.8. Frirond (*) ger egen procent.

Plac Par
1 G106
2 D19
3 F13
4 F12
5 C4
6 Cl1
7 G103
8 A6
9 C9

10 G102
11 A3
12 E5
13 D10
14 C1
15 F15
15 G108
17 F3
18 B5
19 B4
20 D11
21 A8
22 E7
23 G104
24 E10
25 D5
26 G101
27 G110
28 B11
28 D20
30 B3
31 E3
32 F16
33 Al2
34 F11
35 D6
36 G112
37 G109
38 E6
39 G120
40 D13
41 D14
42 D16
43 G105
44 B8
45 E1l
46 F2
a7 D1
48 F10
49 D3
50 G111
50 G113
52 B6
53 E4
54 F7
55 B1
56 F18
57 A9
58 C10
59 F5
60 F19
61 A2
62 F20
63 A4
64 c8
65 E2
66 Al0
67 B12
68 Al
69 D17
70 B10
71 D18
72 F8
73 D2
74 D7
75 A5
76 F17
7 All
78 B7
79 Cc7
80 G107
81 D15
82 c2
83 C5
84 A7
85 D9

Poang

1682.0
1673.0
1672.0
1608.0
1587.4
1507.0
1471.0
1458.0
1418.0
1416.0
1394.0
1389.0
1385.0
1376.0
1360.0
1360.0
1350.5
1348.6
1344.0
1342.0
1339.0
1331.0
1313.0
1307.0
1304.0
1303.0
1296.0
1294.0
1294.0
1281.1
1280.0
1279.0
1271.0
1265.5
1263.0
1262.0
1260.0
1258.0
1256.0
1244.0
1242.0
1237.0
1231.0
1227.4
1226.0
1220.7
1219.0
1218.5
1214.0
1196.0
1196.0
1189.7
1188.0
1172.7
1171.4
1169.0
1157.0
1152.0
1144.4
1131.0
1128.0
1109.0
1108.0
1106.3
1104.0
1100.0
1095.0
1092.0
1082.0
1081.0
1079.0
1065.8
1063.0
1060.0
1048.0
1046.0
1039.0
1032.0
1025.1
1012.0
1009.0
1008.0
1002.3
978.0
976.0

%

7151
71.13
71.09
68.37
67.49
64.07
62.54
61.99
60.29
60.20
59.27
59.06
58.89
58.50
57.82
57.82
57.42
57.34
57.14
57.06
56.93
56.59
55.82
55.57
55.44
55.40
55.10
55.02
55.02
54.47
54.42
54.38
54.04
53.80
53.70
53.66
53.57
53.49
53.40
52.89
52.81
52.59
52.34
52.19
52.13
51.90
51.83
51.81
51.62
50.85
50.85
50.58
50.51
49.86
49.81
49.70
49.19
48.98
48.65
48.09
47.96
47.15
47.11
47.04
46.94
46.77
46.56
46.43
46.00
45.96
45.88
45.32
45.20
45.07
44.56
44.47
44.18
43.88
43.59
43.03
42.90
42.86
42.61
41.58
41.50

Namn

Krister Ekudd - Hans Velin

Stefan Lundh - Hans Bogeskar

Waldo Whiteman - Carl Ragnarsson
Christer Tillberg - Bo Ekelund

Ingegérd Nordenberg - Kent Nordenberg
Jorgen Persson - Solveig Svensson
Ake Karlsson - Rosaine Klerborg
Joyce Fahlstad - Lars Thuresson

René Torkelson - Birgitta Torkelson
Lars-Eije Svensson - Charlotta Jonsson
Marie Louise Jonsson - Christina Svensson
Leif Larsson - Carina Stjernfeldt
Lars-Bertil Lund - Tage Blomqvist
Lena Skoglund - Sten-Ake Skoglund
Gunilla Hennings - Per Kindgren

Inger Nilsson - Ann-Mary Bjorling

Per Parborg - Bengt Andersson

Inger Ostenson-Traff - Kaj Johansson
Christine Gustafsson - Bo Gustafsson
Karin Lindgren - Lembit Murro

Kerstin Edstrom - Ingrid Engstrém

Per Ferm - Anders Lofgren

Eva Wilander - Rolf Larsson

Stina Holm - Barbro Enhérning Ahlstrém
Mona Narkestam - Leif Johansson
Arne Melin - Bjorn Pedersen

Ragnar Jansson - Maud Kylinger

Hans Andersson - Ulla Davidsson
Christer Olofsson - Anki Olofsson
Anders Aronson - Peter Krug

Reino Hirvonen - Shaun Jacobsen
Bertil Andersson - Siv Gustavsson
Gerd Johansson - Gunilla Miller

Nils Sérensson - Lennart Palm

Torgny Andreasson - Kaj Friberg

Lars Kvissberg - Marianne Kvissberg
Sture Lennartsson - Olle Karlsson
Hans Stever - Laila Blomdahl

Gun Karlsson - Lennart Karlsson
Margrethe Stahl - Ulla-Britt Schelin
Lennart Wiktorsson - Bjérn Helmer
Marianne Johansson - Jan Holton

Ove Arbsjo - Gustaf Appelberg

UIf Aronson - Hans Karlsson

Anders Hagen - Gun Hirvonen
Malgorzata Wesolowska - Tony Lindblom
Roland Andersson - Birgitta Dahlstrém
Arne Gustavsson - Jan-Ake Gustavsson
Goran Hansson - Kent Christiansson
Birgitta Nilsson - Anita Folkeson

Lars Lévgren - Orjan Randhede

Jan Nilsson - Bo Mattsson

Ragnar Stenbert - Inger Stenbert
Lennart Linnerstedt - Sture Mattsson
Rune Johansson - Géran Rohlén

Evert Johansson - Bent Castella

Beate Haslum Nilsson - Hans-Erik Hedstrom
Christin Larsson - Lisa Horberg

Eva Liljestrom - Birgitta Melander

Lage Johnsson - Lars-Gunnar Karlsson
Inga-Lill Bergvall - Inga-Lill Nordin
Folke Nettelblad - Jan-Erik Sandberg
Gunilla Berg - Sonja Schnirer

Ulla Skarberg - Bengt Larsson

Karin Ahlm - Gertrud Lindahl

Anita Bellskog - Lars-Ake Jansson
Jimmy Ténnberg - Ulla Marke

Bjorn Berglund - Bjarne Harrung
Gunilla Westerdahl - Ake Israelsson
Bengt Alfredsson - Hans Norén

Ake Axelsson - Jan-Erik Olsson
Margareta Aberg - Solweig Bladh

Iréne Papadopoulos - Berit Hildén
Borge Davidsson - Morgan Andersson
Gunilla Fridberg - Hans Frodin

Ulla Ouchterlony - Kenneth Gallman
Birgitta Bodén - Yvonne Geijer

Gun Jacobsson - Mats Soderberg
Ingegerd Bragvad - Ing-Britt Andersson
Ann-Katrine Ryn - Iréne Palm
Lars-Goran Andersson - Elsa Persson
Ulla Petersson - Jan Skarberg

Hans Cederlid - Annika Cederlid
Carina Camara - Gunbritt Dalmanner
Eva Samuelsson - Lilian Frantzich

MID

1186
1780
2111
1309
11872
31291
1176
93477
92790
14309
37252
20775
18620
8594
6841
13740
55697
89395
93996
85876
42009
57249
87253
8445
89811
85944
1559
4506
11368
16676
17358
11916
27436
18644
1825
51550
11845
35040
1201
30900
49207
60274
37291
2515
311
86023
1766
14962
52643
81972
50169
88225
43888
1317
38955
1570
51541
93706
27633
83441
45120
10684
21234
15888
80443
45271
89396
27427
94081
10495
18757
32379
13226
12757
86514
45563
50316
89402
45428
15367
13903
81499
15225
42006
36478

1179
4476
2498
1442
9631
91544
10054
19344
92789
86566
50338
11197
81101
13380
14963
50638
9212
34980
93997
40039
44696
59881
1172
13568
5010
14134
31298
25113
1889
14201
49498
87227
48880
83980
4828
84687
33615
39214
1196
83494
25762
60755
63247
3323
14428
21037
22844
11951
49208
91432
6043
7375
88888
1503
34064
92483
429
35168
29210
90952
41414
91445
40798
35169
6091
44576
94215
60096
40012
16562
45607
40100
13780
35096
43743
32688
19866
31475
43863
90943
11278
85796
80697
43432
36503

Klubb

Filbyter Bridge

Alingsas BS

Filbyter Bridge

Filbyter Bridge

Laholms BK

Laholms BK

Filbyter Bridge - Mjolby BK
Falu BK

Laholms BK

Mjélby BK - Skanninge BK
Korsnés PBK - Falu BK
BK Tre Sang, Helsingborg
Alingsas BS

Laholms BK

Filbyter Bridge

Filbyter Bridge

Filbyter Bridge

BK Allians, Halmstad

BK Allians, Halmstad
Alingsas BS

Falu BK

BK Tre Sang, Helsingborg
Ljungsbro BK

BK Tre Sang, Helsingborg
Alingsas BS

IFK Norrképing - Atvidabergs BS
Filbyter Bridge

BK Allians, Halmstad
Upphéarads BK

BK Allians, Halmstad - Harplinge BK

BK Tre Sang, Helsingborg
Filbyter Bridge

Korsnas PBK

Filbyter Bridge

Alingsas BS

Filbyter Bridge

Filbyter Bridge

BK Tre Sang, Helsingborg
Filbyter Bridge

Alingsas BS

Uppharads BK - Alingsas BS
Alingsas BS

Filbyter Bridge

BK Allians, Halmstad

BK Tre Sang, Helsingborg
Filbyter Bridge - Kisa BS
Véargarda BS - Alingsas BS
Filbyter Bridge

Alingsas BS

Filbyter Bridge

Filbyter Bridge

BK Allians, Halmstad - Kinnareds BK

BK Tre Sang, Helsingborg
Filbyter Bridge - Ljungsbro BK
BK Allians, Halmstad
Ljungsbro BK

Falu BK

Laholms BK

Filbyter Bridge - Skanninge BK
Filbyter Bridge

Falu BK

Filbyter Bridge - Gamleby BK
Korsnés PBK - Falu BK
Laholms BK

BK Tre Sang, Helsingborg
Falu BK - Korsnas PBK

BK Allians, Halmstad
Korsnés PBK

Alingsas BS

Laholms BK - Simlangsdalens BK
Alingsas BS

Filbyter Bridge

Alingsas BS

Alingsas BS

Falu BK

Filbyter Bridge

Falu BK - Korsnas PBK

BK Allians, Halmstad

Vastra Bjare BK

Filbyter Bridge

Véargarda BS - Uppharads BK
Laholms BK

Laholms BK

Falu BK

Lerums BK - Alingsas BS
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86 D4 969.0 41.20 Gunborg Engstrom - Britta-Lena Skoglund 91396 15045 Vargarda BS - Alingsas BS
87 G114 965.0 41.03 Borge Rosqvist - Gunvor Sandelius 8491 80597 Filbyter Bridge
88 D8 962.0 40.90 Kerstin Johansson - Klas Gunnarson 43312 92640 Alingsas BS
89 F9 955.6 40.63 Ingrid Karlsson - Margareta Strém 35000 35001 Filbyter Bridge
90 E8 946.0 40.22 Eva Gustafsson - Jan-Inge Gustafsson 12452 21557 BK Tre Sang, Helsingborg
91 D12 903.0 38.39 Cathy Fogelberg - Irene Boos 49344 49342 Alingsas BS
92 G115 896.0 38.10 Kerstin Engmark - Berit Sérensson 51114 87226 Filbyter Bridge
93 G119 890.0 37.84 Eva Andersson - Bodil Ohlund 37243 32378 Filbyter Bridge
94 F6 884.7 37.62 Solveig Schon - Anita Cetrelli 37944 37945 Filbyter Bridge
95 B2 880.0 37.41 Jarl Svedertun - Petra Hedlund 37196 93720 BK Allians, Halmstad
96 F1 873.8 37.15 Jan Gunnarsson - Per-Ake Lanemo 40110 41450 Filbyter Bridge
97 G117 851.0 36.18 Kerstin Johansson - A-C Nathanson 55133 48694 Filbyter Bridge
98 C6 846.9 36.01 Inga-Maj Baath - Kerstin Kristiansson 81079 63262 Laholms BK - Bastad BK
99 G116 840.0 35.71 Bjorn Walldén - Eva Bjoréus 28612 86019 Filbyter Bridge
100 C3 828.6 35.23 Maj Lis Karlsson - Diana Avaso 63435 63434 Laholms BK
101 G118 824.0 35.03 Ingmarie Leinskold - Marianne Warnelius 32383 78985 Filbyter Bridge
102 F4 769.1 32.70 Jimmy Danielsson - Roland Lundberg 50202 40418 Filbyter Bridge
103 E9 731.0 31.08 Monica Nowak - Lisa Jénsson 88404 81057 BK Tre Sang, Helsingborg
1 4« Kn9g Bésta kontrakt 2 & KD52 Bésta kontrakt 3 & Kn5 Bésta kontrakt
Nord v K74 6v N =980 Ost v 7632 2NT S =120 Syd v E865 2NTV =-120
Ingen + ED1085 NS + Kn5 ov + Kn75
*K9 & ¢ v & NT *K96 & ¢ v & NT #E985 & ¢ v &4 NT
4D1073 4 K52 N 6 12128 11 4 E10643 4987 N7 87 6 8 4 KD1087 464 N6 45505
v5 vD1062 S 6 12128 11 v 1098 vED S7876 8 v7 vDKn1042 S 6 4 5 5 5
¢ Kn96 +32 071151 +83 ¢ EK104 06 5575 ¢D1094 ¢ EKS8 O7 88838
#EKn874 #D1053 V71151 «D32 #Kn875 V65575 K43 #Kn106 V79888
2 E64 aKn 4 E932
v EKn983 v KKn54 v K93
¢ K74 + D9762 4632
»62 »E104 »D72
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
D9 D12 3NN+3 &5 490 970 10 C4 C3 2¢DO-3 4J 500 98.0 0.0 FO F16 3NV-3 &5 300 980 0.0
D19 D2 3NN+3 &3 490 970 1.0|G104 G117 34 V-4 v7 200 950 3.0 F12 F4 3NO-2 #3 200 950 3.0
F7 FO 4v S+2 &4 480 910 7.0|G106 G114 24 V-4 v7 200 950 3.0|G1l11 G118 3NV-2 &5 200 950 3.0
F13 F1 49 S+2 v5 480 910 7.0 A2 All 44 V-3 5 150 89.0 90| D16 D7 2NV-1 &5 100 910 7.0
F18 F10 4v S+2 ¥5 480 91.0 7.0 A9 Al INV-3 3 150 89.0 9.0|G112 G104 34 V-1 ¥5 100 910 7.0
G106 G114 4v S+2 v5 480 910 70| D13 D8 34V-3 +J 150 89.0 9.0 D5 D18 Pass 85.0 13.0
D3 D18 3NN+2 42 460 83.0 150( D19 D2 3NO-3 4J 150 89.0 9.0 A9 Al Pass 85.0 13.0
C4 C3 3NN+2 v6 460 83.0 15.0 A4 A3 3v S= ¢8 140 84.0 14.0| E10 E1 Pass 85.0 13.0
D4 D17 3NN+2 &3 460 83.0 150 D4 D17 INO-2 6 100 720 26.0( D17 D6 Pass 85.0 13.0
D14 D7 3NS+2 49 460 83.0 15.0 A7 Al2 1¢ O-2 4J 100 72.0 26.0 (G101 G115 INN-1 43 -50 80.0 18.0
B2 Bll 4v S+1 47 450 710 27.0 A8 A6 INO-2 +7 100 72.0 26.0 C8 C6 INO= &2 -90 73.0 25.0
E6 E5 4v N+1 ¢3 450 71.0 27.0 B8 B6 24 V-2 ¢J 100 72.0 26.0| A10 A5 2¢ V= v5 -90 73.0 25.0
C8 C6 4v S+1 &4 450 71.0 27.0 C9 C1 3v0O-2 «J 100 720 26.0| F11 F18 INO= &7 -90 73.0 25.0
E10 E1l 4v N+1 &5 450 710 27.0| F12 F15 24 0-2 «J 100 72.0 26.0| F13 F2 INO= 43 -90 73.0 25.0
F16 F8 4v S+1 #4 450 710 27.0| F13 F1 24 V-2 ¢J 100 720 260 D14 D9 INO= 43 -90 73.0 25.0
G104 G117 4v S+1 #4 450 710 27.0| D14 D7 2NO-2 7 100 720 26.0| D20 D2 2¢ V= #A -90 73.0 25.0
G112 G115 4v S+1 5 450 710 27.0| D15 D6 34V-2 ¢J 100 720 26.0| C10 C5 INS-2 &8 -100 65.0 33.0
G120 G105 4v N+1 J 450 71.0 27.0| F20 F5 24 O-2 4J 100 72.0 26.0|G106 G120 INN-2 vQ -100 65.0 33.0
C2 Cl11 3NN+1 &3 430 62.0 36.0|G111 G103 34 V-2 ¢J 100 72.0 26.0 C4 C3 laV+l &8 -110 59.0 39.0
B4 B3 4vS= 47 420 53.0 45.0 B2 Bl1l1 24 O-1 ¢7 50 43.0 55.0 A8 A6 3¢ V= 4J -110 59.0 39.0
A9 Al 4vS= &A 420 53.0 450 C2 Cl11 INO-1 ¢2 50 43.0 55.0|G108 G110 24 V= 49 -110 59.0 39.0
B10 B5 4v S= 43 420 53.0 45.0 B4 B3 24 O-1 ¢2 50 43.0 55.0|G117 G105 2¢ V+1 #A -110 59.0 39.0
D11 D10 4v S= 47 420 53.0 45.0 F4 F17 INO-1 v4 50 43.0 55.0 D1 D3 INO+1 &2 -120 45.0 53.0
F12 F15 4v S= 43 420 53.0 45.0 F7 F9 24 V-1 ¢J 50 430 55.0 A4 A3 INO+1 42 -120 45.0 53.0
F19 F2 49 S= &7 420 53.0 45.0 C8 C6 1#40-1 «J 50 43.0 550 E4 E7 INO+1 42 -120 45.0 53.0
D20 D1 4vS= &7 420 53.0 450| A10 A5 24V-1 ¢J 50 43.0 55.0 F6 F20 2NV = +5 -120 45.0 53.0
F20 F5 4¢vS= 9 420 53.0 45.0| B10O B5 INV-1 45 50 43.0 55.0 B7 B12 INO+1 42 -120 45.0 53.0
A8 A6 3NN= 42 400 40.0 58.0| E10 El 24 O-1 +6 50 43.0 55.0 E8 E3 INO+1 &2 -120 45.0 53.0
B8 B6 3NN= &3 400 400 58.0| D11 D10 INO-1 #A 50 43.0 55.0 F8 F10 INO+1 &3 -120 45.0 53.0
D13 D8 3NN= &5 400 40.0 58.0| F11 F3 24 V-1 ¢J 50 430 55.0| B10 B5 2NO= ¢3 -120 45.0 53.0
D15 D6 3NN= 42 400 40.0 58.0| F18 F10 24 O-1 v4 50 43.0 55.0| F17 F5 2NO= 42 -120 45.0 53.0
G113 G101 3NN= 2 400 400 580| D200 D1 2NO-1 ¥4 50 43.0 55.0|G114 G107 INO+1 #4 -120 45.0 53.0
C9 Cl1 2NN+4 &3 240 33.0 65.0|G107 G109 24 O-1 #A 50 43.0 55.0 E6 E5 24 V+1 ¢5 -140 30.0 68.0
G111 G103 INN+5 6 240 33.0 65.0|G116 G108 24 O-1 2 50 43.0 55.0 B8 B6 34 V= 4J -140 30.0 68.0
F11 F3 2NN+3 42 210 30.0 68.0|G118 G110 24 O-1 #A 50 43.0 55.0 E9 E2 2v O+1 #A -140 30.0 68.0
A4 A3 2vy N+3 &3 200 27.0 71.0(G119 G102 24 O-1 &A 50 43.0 55.0 (G109 G116 14 V+2 5 -140 30.0 68.0
A10 A5 2v S+3 #A 200 27.0 71.0|G120 G105 24 V-1 v6 50 43.0 55.0|G113 G102 34 V= 45 -140 30.0 68.0
FA4 F17 3¢ N+3 &5 170 220 76.0| C10 C5 Pass 24.0 74.0 A2 All INO+2 42 -150 18.0 80.0
B7 B12 2¢ N+4 &5 170 22.0 76.0 D3 D18 INO= 5 -90 16.0 82.0 C2 Cl1l1 INO+2 ¢2 -150 18.0 80.0
G118 G110 3¢ N+3 &5 170 22.0 76.0 E4 E7 INO= v4 -90 16.0 82.0 A7 Al2 2NO+1 3 -150 18.0 80.0
G116 G108 2¢ N+3 &3 150 18.0 80.0 E6 E5S INO= v4 -90 16.0 82.0| D12 D11 INO+2 &2 -150 18.0 80.0
Cl10 C5 2vS+1 43 140 16.0 82.0 B7 B12 INO= 2 -90 16.0 82.0| D15 D8 INO+2 &2 -150 18.0 80.0
G107 G109 2¢ N+2 &5 130 14.0 84.0 D9 D12 INO= ¢7 -90 16.0 82.0| F19 F3 2NO+1 &3 -150 18.0 80.0
A7 Al2 2¢ N+1 &2 110 12.0 86.0| D16 D5 INO= v4 -90 16.0 82.0 G119 G103 INO+2 43 -150 18.0 80.0
D16 D5 3#V-1 v4 50 10.0 88.0| F16 F8 INO= ¢7 -90 16.0 82.0 F1 F15 24 V+2 &5 -170 8.0 90.0
A2 All 4v S-1 43 -50 4.0 940 F19 F2 24 V= 5 -110 8.0 90.0 B2 B11 24 V+2 ¢7 -170 8.0 90.0
E4 E7 4v S-1 43 -50 4.0 94.0 E8 E3 2NO= ¢7 -120 5.0 93.0 D4 D19 24 V+2 #8 -170 8.0 90.0
E8 E3 4v S-1 &A -50 4.0 94.0|G113 G101 2NO= ¢2 -120 5.0 93.0 B4 B3 2NV+2 &5 -180 3.0 95.0
E9 E2 4v S-1 3 -50 4.0 94.0|G112 G115 3vS-2 8 -200 2.0 96.0| D10 D13 INO+3 %2 -180 3.0 95.0
G119 G102 4v S-1 a7 -50 4.0 94.0 E9 E2 3v N-3 ¢A -300 0.0 98.0 C9 Cl1 24V+3 vA -200 0.0 98.0
F6 - 36.9 F6 - 36.9 c7 - 42.7
c7 - 42.7 c7 - 42.7 - B1 48.8
- B1 48.8 - B1 48.8 - F7 48.9
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4 4 K754 Basta kontrakt 5 4 Kn75 Basta kontrakt 6 4 E543 Basta kontrakt
Vast v Kn8653 2NTV =-120 Nord v DKn84 2# N =90 Ost v ED962 4ANT O =-630
Alla +5 NS ¢E3 ov ¢+ Kn
#EDG6 & ¢ v & NT #E1073 & ¢ v & NT #Kn83 & ¢ v & NT
4 D632 « 109 N75565 4K109 #ED83 N86 657 4K976 «D N2 4452
v K10 v ED942 S75575 vK9752 vE3 S86 657 v1075 vKKn83 S24452
¢ Kn2 ¢ EKD63 058867 ¢10942 +876 045775 ¢EB2 +KD76 0999710
#KKn985 #4 V5886 8 &2 #Kn865 V457735 #ED2 #K1075 V999710
4 EKn8 4642 4 Kn1082
v7 v 106 v4
+109874 ¢ KDKn5 4109543
#10732 #KD94 *964
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
G109 G116 4v O-3 T 300 98.0 0.0 ES E8 3NS+1 v7 630 96.0 20|G106 G117 4vyDO-2 #6 500 98.0 0.0
Bl B7 3NV-2 44 200 85.0 13.0| E1I0 E2 3NN+1 vA 630 96.0 2.0 E7 E6 3#0-1 v4 100 96.0 20
Cl C7 3NO-2 A 200 850 13.0| F1I0 F16 3NN+1 vA 630 96.0 2.0|G109 G111 3« 0O= v4 -110 940 4.0
El E3 3NV-2 45 200 850 130| C10 C6 2NN+1 &5 150 91.0 7.0 A5 A4 440= v4 -130 920 6.0
B3 B1l 3NV-2 44 200 850 13.0| D18 D7 INS+2 T 150 91.0 7.0| D16 D9 2v O+1 v4 -140 90.0 8.0
E5 E8 3NV-2 44 200 85.0 13.0 D2 D4 3#S+1 ¥2 130 88.0 10.0|G110 G116 2NO+1 ¥4 -150 88.0 10.0
A9 A2 3NO-2 A 200 850 13.0(G101 G105 2NN= 3 120 84.0 140| C10 C6 2NO+2 v4 -180 86.0 12.0
D10 D13 3NO-2 T 200 850 13.0|G113 G103 2NS= v2 120 840 140 C1 C7 3NO= ¢5 -600 810 17.0
F12 F4 3NO-2 49 200 85.0 13.0|G120 G107 INS+1 T 120 84.0 14.0 A8 Al12 3NO= «J -600 81.0 17.0
F1l7 F5 4v0-2 A 200 85.0 13.0| D16 D9 3#N= vA 110 80.0 180 D20 D3 3NO= «J -600 810 17.0
D20 D2 3NO-2 7 200 850130 Cl1 C7 240-2 «Q 100 750 23.0(G104 G119 3NO= v4 -600 810 17.0
G106 G120 3NV-2 44 200 850 13.0| B10 B6 INDV-1 ¢8 100 75.0 23.0 Al A7 3NO+1 v4 -630 63.0 35.0
G111 G118 3NO-2 T 200 85.0 13.0| F13 F3 2vV-2 ¢A 100 75.0 23.0 Bl B7 3NV+l1 ¢4 -630 63.0 35.0
Al A7 3NO-1 +4 100 56.0 420| F15 F2 140-2 T 100 75.0 23.0 D2 D4 3NO+1 T -630 63.0 35.0
A3 All 3NV-1 ¢3 100 56.0 42.0 El E3 2¢S= &2 90 67.0 310 F6 F17 3NV+1 &8 -630 63.0 35.0
C3 Cl1 4v0O-1 #2 100 56.0 420| C5 C4 INS= T 090 67.0 31.0 B8 B12 3NO+1 v4 -630 63.0 35.0
A5 A4 3NV-1 3 100 56.0 420 C9 C2 INS= T 90 67.0 310 A9 A2 3NO+1 ¢4 -630 63.0 35.0
D5 D18 3NO-1 ¢3 100 56.0 42.0|(G106 G117 INS= 49 90 670 310 C9 C2 3NO+1 ¥4 -630 63.0 350
B8 B12 3NV-1 5 100 56.0 42.0 B3 Bll 24 O-1 ¢K 50 60.0 38.0 E9 E4 3NO+1 3 -630 63.0 35.0
C9 C2 3NO-1 +4 100 56.0 42.0 D6 D19 2¢ V-1 8 50 60.0 38.0 F9 F11 3NO+1 43 -630 63.0 35.0
Al0 A6 4v O-1 T 100 56.0 420| A0 A6 2vV-1 A 50 60.0380| FI0 F16 3NO+1 T -630 63.0 35.0
B10 B6 4v O-1 &7 100 56.0 42.0 F1 F5 Pass 55.0 43.0| D13 D12 3NO+1 3 -630 63.0 35.0
F13 F2 3NV-1 5 100 56.0 42.0 E7 E6 Pass 55.0 43.0| F18 F12 3NO+1 v4 -630 63.0 35.0
D14 D9 3v O-1 48 100 56.0 42.0 A3 All 2#N-1 vA -100 38.0 60.0 (G101 G105 3NO+1 T -630 63.0 35.0
D16 D7 3NV-1 &4 100 56.0 42.0 B5S5 B4 2#N-1 vA -100 38.0 60.0|G114 G108 3NO+1 ¥4 -630 63.0 35.0
D17 D6 4v O-1 T 100 56.0 42.0 D5 D1 3NN-1 &3 -100 38.0 60.0 F1 F5 3NV+2 v6 -660 34.0 64.0
G101 G115 2NV-1 v5 100 56.0 42.0 F6 F17 2¢ S-1 2 -100 38.0 60.0 A3 All 3NO+2 &J -660 34.0 64.0
G112 G104 3NV-1 v5 100 56.0 42.0 A8 Al2 3NN-1 &3 -100 38.0 60.0f C3 C11 3NO+2 ¢3 -660 34.0 64.0
G114 G107 3NO-1 T 100 56.0 420| D13 D12 2NN-1 8 -100 38.0 60.0 F4 F19 3NO+2 #9 -660 34.0 64.0
G117 G105 4v O-1 «A 100 56.0 42.0| D15 D10 2NN-1 6 -100 38.0 60.0 B5 B4 3NO+2 v4 -660 34.0 64.0
Cl0 C6 2¢ O= v7 -90 38.0 60.0| D17 D8 3NN-1 &6 -100 38.0 60.0f C5 C4 3NO+2 2 -660 34.0 64.0
B5 B4 2vO= &2 -110 33.0 650| D20 D3 2NN-1 &3 -100 38.0 60.0 D6 D19 3NO+2 v4 -660 34.0 64.0
F9 F16 1vO+1 A -110 330 650 F20 F7 2#N-1 vA -100 38.0 600 E1I0 E2 3NO+2 ¢4 -660 34.0 64.0
F11 F18 2¢ O+1 v7 -110 33.0 65.0|G104 G119 2NN-1 8 -100 38.0 60.0| D11 D14 3NV+2 v6 -660 34.0 64.0
D15 D8 2+ 0= #7 -110 33.0 65.0|G109 G111 2NS-1 +4 -100 380 60.0| F13 F3 3NO+2 ¢3 -660 34.0 64.0
A8 Al12 2NO= T -120 28.0 70.0 (G110 G116 2NN-1 43 -100 38.0 60.0( D15 D10 3NO+2 T -660 34.0 64.0
G119 G103 2v O+1 #2 -140 26.0 72.0|G114 G108 3NN-1 3 -100 38.0 60.0| D18 D7 3NO+2 ¢3 -660 34.0 64.0
D1 D3 1vyN-3 +Q -300 240 74.0|G115 G102 2NN-1 &3 -100 38.0 60.0 (G113 G103 3NV+2 v2 -660 34.0 64.0
EI0 E2 2vN-4 ¢K -400 22.0 76.0 F9 F11 24 O= v6 -110 20.0 78.0 (G118 G112 3NO+2 ¢5 -660 34.0 64.0
F1 F15 3NV= +v3 -600 140 84.0( F18 F12 24 O= ¢K -110 20.0 78.0 (G120 G107 3NO+2 3 -660 34.0 64.0
C5 C4 3NV= v5 -600 14.0 84.0|G118 G112 24 O= «K -110 20.0 78.0 El E3 3NO+3 v4 -690 9.0 89.0
F6 F20 3NV=  v5 -600 14.0 84.0 Al A7 3#N-2 vA -200 9.0 89.0 B3 Bl1l 3NO+3 ¥4 -690 9.0 89.0
E7 E6 3NV= v3 -600 14.0 84.0 Bl B7 3NS-2 49 -200 9.0 89.0 D5 D1 3NO+3 T -690 9.0 89.0
E9 E4 3NV= &5 -600 14.0 840| C3 Cl1 2NS-2 v2 -200 9.0 89.0 ES5 E8 3NO+3 43 -690 9.0 89.0
F19 F3 3NO= ¢4 -600 14.0 84.0 F4 F19 3NS-2 5 -200 9.0 89.0( A1I0 A6 3NO+3 T -690 9.0 89.0
G108 G110 3NV=  v3 -600 14.0 84.0 B8 B12 3NN-2 43 -200 9.0 89.0| B10 B6 3NO+3 v4 -690 9.0 89.0
D4 D19 3NV+1 &5 -630 4.0 94.0 A9 A2 3NS-2 9 -200 9.089.0| FI5 F2 3NO+3 v4 -690 9.0 89.0
D12 D11 3NV+1 &4 -630 4.0 94.0 E9 E4 3#N-2 8 -200 9.089.0| D17 D8 3NO+3 T -690 9.0 89.0
G113 G102 3NV+1 &5 -630 4.0 940| D11 D14 3NN-2 «5 -200 9.089.0 F20 F7 3NO+3 v4 -690 9.0 89.0
F8 F10 3NO+2 ¢4 -660 0.0 98.0 A5 A4 3y N-5 &8 -500 0.0 98.0|G115 G102 3NO+3 v4 -690 9.0 89.0
c8 - 46.1 C8 - 46.1 C8 - 46.1
- B2 36.7 - B2 36.7 - B2 36.7
- F7 48.9 - F8 44.4 - F8 44.4
7 4 Kn9865 Basta kontrakt 8 4 D1096 Basta kontrakt 9 485 Basta kontrakt
Syd v 106 4NT O =-630 Vast vE8 3# ND-1-100 Nord v 763 44 O =-620
Alla +6 Ingen + Kn9 ov 476432
*E8742 & ¢ v & NT #K10983 & ¢ v & NT *E96 & ¢ v & NT
«EK42 D103 N6 4443 aKn74 4 EK52 N8 6 466 D763 4EKKn109 N6 5 5 3 3
vEK4  vKn975 S54442 vyKKn6 v D9752 S 86 466 vDKnl10 vK92 S65533
¢ Kn532 ¢ KD7 0799910 ¢ KD108 +¢54 056877 ¢EKD  +1085 07 8 8 109
*106 #KKn9 V7989938 «D75 *Kn4 V56877 #K85 *Kn3 vV 7 8 8 109
a7 483 442
v D832 v 1043 v E854
+ E10984 ¢+ E7632 ¢ Kn9
«D53 #E62 #D10742
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
B2 B8 3NV-3 #4 300 960 20 F13 F4 4v0O-4 &#A 200 980 00| C9 C3 440-1 vA 100 96.0 20
E6 E9 3NV-3 &4 300 96.0 20 F1 F18 3v0O-3 &#A 150 930 50| E1I0 E3 540-1 vA 100 96.0 20
F13 F4 3NO-3 9 300 96.0 20 D7 D1 44 0-3 «8 150 930 50| F13 F5 54 0-1 44 100 96.0 20
F8 F20 3NV-2 8 200 900 80| D18 D9 2NV-3 &9 150 93.0 50|G106 G119 34 O+2 &2 -200 92.0 6.0
Al0 A7 3NV-2 45 200 90.0 8.0|G101 G118 4v O-3 48 150 93.0 5.0 F2 F18 3NV= &A -600 90.0 8.0
G110 G112 4v O-2 ¢A 200 90.0 80| D19 D8 3#N= A 110 88.0 10.0 Al Al2 44 O= vA -620 73.0 25.0
D18 D9 3#N= 7 110 86.0 12.0 Bl B12 4v O-2 48 100 79.0 19.0 D1 D9 44 0= ¢J -620 73.0 25.0
D3 D5 3NV-1 #4 100 720 26.0 F7 F17 3v0O-2 ¢A 100 79.0 19.0 F3 F7 44 0= ¢J -620 73.0 25.0
A6 A5 4v O-1 &7 100 720 26.0 F8 F20 3NV-2 #9 100 79.0 19.0 A6 A5 44 0= #J -620 73.0 25.0
B6 B5 3NO-1 T 100 72.0 260 A0 A7 3vO-2 A 100 79.0 19.0 E6 E9 44 0= ¢J -620 73.0 25.0
C6 C5 3NV-1 &5 100 720 26.0| E1I0 E3 340-2 A 100 79.0 19.0 A9 A3 44 0= vA -620 73.0 25.0
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F7 F17 3NV-1 #2 100 720 26.0( B11 B4 3vO-2 48 100 79.0 190| C10 C7 44 0= vA -620 73.0 25.0
E8 E7 3NV-1 &2 100 72.0 26.0| D20 D4 3v O-2 48 100 79.0 19.0| All A4 44 O= ¢J -620 73.0 25.0
D12 D15 3NV-1 &7 100 72.0 26.0|G110 G112 3v O-2 ¢A 100 79.0 19.0| B11 B4 44 O= 46 -620 73.0 25.0
F16 F11 3NV-1 45 100 72.0 26.0 A2 A8 3vO-1 43 50 570410 Fl11 Fl1 44 V= &5 -620 73.0 25.0
D19 D8 3NV-1 &5 100 72.0 26.0 C2 C8 INV-1 &T 50 57.0 41.0| D17 D12 44 O= #7 -620 73.0 25.0
F19 F5 3NV-1 #2 100 72.0 26.0 E2 E4 4v0O-1 #A 50 57.0410| F20 F9 44 O= ¢J -620 73.0 25.0
G101 G118 4v O-1 &7 100 72.0 26.0 D3 D5 2NV-1 #8 50 57.0 41.0|G103 G107 44 O= ¢J -620 73.0 25.0
G102 G106 3NV-1 &7 100 72.0 26.0 A6 A5 3vO-1 #A 50 57.0 41.0|G114 G110 44 O= v4 -620 73.0 25.0
G113 G104 3NV-1 #2 100 72.0 26.0 C6 C5 3v0O-1 ¢2 50 57.0 41.0|G115 G104 44 O= v4 -620 73.0 25.0
D20 D4 3v O= &7 -140 58.0 40.0 E6 E9 24 0O-1 &A 50 57.0 41.0|G120 G109 44 O= +J -620 73.0 25.0
F2 F6 INO+2 ¢4 -150 56.0 42.0 C9 C3 1eV-l1 vA 50 57.0 410 Bl B12 44 O+1 ¢J -650 29.0 69.0
A2 A8 INS-2 <vA -200 540 440| Ci11 C4 2NV-1 &8 50 57.0 410 El E5 44 0O+1 ¢J -650 29.0 69.0
Al Al2 3NV=  #2 -600 37.0 61.0( F15 F3 3vO-1 48 50 57.0 41.0 A2 A8 44 O+1 9 -650 29.0 69.0
Bl B12 3NV= &4 -600 37.0 61.0|G107 G117 4v O-1 #K 50 57.0 41.0 B2 B8 54 0= 44 -650 29.0 69.0
El E5 3NV= 42 -600 37.0 61.0|G108 G120 4v O-1 v4 50 57.0 41.0 C2 C8 54 0= 44 -650 29.0 69.0
F1 F18 3NV=  #2 -600 37.0 61.0(G115 G103 2NV-1 &T 50 57.0 41.0 E2 E4 54 O= 44 -650 29.0 69.0
E2 E4 3NV= 46 -600 37.0 61.0|G119 G105 4v O-1 #2 50 57.0 41.0 D4 D6 44 O+1 7 -650 29.0 69.0
D6 D2 3NV= &7 -600 37.0 61.0( C10 C7 44N-1 +¢5 -50 42.0 56.0 B6 B5 44 O+1 #4 -650 29.0 69.0
C9 C3 3NV= 49 -600 37.0 61.0| B10 B7 INV= &8 -90 39.0 59.0 C6 C5 44 O+1 42 -650 29.0 69.0
Cl0 C7 3NV= &5 -600 37.0 61.0| D12 D15 INV=  #8 -90 39.0 59.0 F6 F19 44 O+1 vA -650 29.0 69.0
E10 E3 3NV= vT -600 37.0 61.0( F10 F12 3#DN-1 4A -100 36.0 62.0 D7 D3 44 O+1 ¢J -650 29.0 69.0
All A4 3NO= +4 -600 37.0 61.0 Al Al2 3y O= &A -140 240 740 D8 D2 44 O+1 ¢J -650 29.0 69.0
Cl1 C4 3NV= #4 -600 37.0 61.0 F2 F6 2v O+1 48 -140 24.0 74.0 E8 E7 44 O+1 v4 -650 29.0 69.0
D14 D13 3NV= &5 -600 37.0 61.0 B6 B5 3vO= &A -140 24.0 740| A10 A7 44 O+1 vA -650 29.0 69.0
D17 D10 3NV= &5 -600 37.0 61.0 E8 E7 3vO= #2 -140 240 740| B10 B7 44 O+1 44 -650 29.0 69.0
G107 G117 3NV=  #4 -600 37.0 61.0 A9 A3 3vO= 48 -140 240 740| Cl1 C4 44 O+1 42 -650 29.0 69.0
G116 G111 3NV= &3 -600 37.0 61.0| A1l A4 3vO= #A -140 240 740| D13 D16 44 O+1 ¢J -650 29.0 69.0
G119 G105 3NV= &2 -600 37.0 61.0| F16 F11 3vO= #A -140 24.0 74.0| F15 F4 44 O+1 #4 -650 29.0 69.0
A9 A3 4v O= &7 -620 20.0 78.0| F19 F5 2v O+1 ¢A -140 24.0 740| F16 F12 44 O+1 ¢J -650 29.0 69.0
D7 D1 3NV+1 46 -630 10.0 88.0 (G102 G106 2y O+1 &A -140 24.0 740( Fi17 F8 44 O+1 #2 -650 29.0 69.0
B10 B7 3NV+l 45 -630 10.0 88.0(G113 G104 3y O= A -140 24.0 740| D18 D11 54 O= +J -650 29.0 69.0
F10 F12 3NV+1 8 -630 10.0 88.0|G116 G111 3vy O= 48 -140 240 740| D19 D10 44 O+1 %2 -650 29.0 69.0
B11 B4 3NV+l 45 -630 10.0 88.0 D6 D2 INV+2 &9 -150 11.0 87.0| D20 D5 54 O= 42 -650 29.0 69.0
F15 F3 3NV+1 46 -630 10.0 88.0| D17 D10 INV+2 &6 -150 11.0 87.0|G102 G118 44 O+1 &7 -650 29.0 69.0
D16 D11 3NV+l1 46 -630 10.0 88.0| D16 D11 3v O+1 #A -170 8.0 90.0|G111 G101 44 O+1 ¢J -650 29.0 69.0
G108 G120 3NV +1 46 -630 10.0 88.0|G114 G109 INV+3 T -180 6.0 92.0|G113 G105 44 O+1 #2 -650 29.0 69.0
G114 G109 3NV+1 48 -630 10.0 88.0 El E5 54 N-6 v2 -300 4.0 94.0|G116 G112 54 O= vA -650 29.0 69.0
G115 G103 3NO+1 T -630 10.0 88.0 B2 B8 4vO= #A -420 1.0 97.0|G117 G108 44 O+1 vA -650 29.0 69.0
C2 C8 3NV+2 46 -660 0.0 980| D14 D13 4vO= #2 -420 1.0 97.0| D15 D14 3NV+2 v7 -660 0.0 98.0
C1 - 57.3 C1 - 57.3 C1 - 57.3
- B3 53.4 - B3 53.4 - B3 53.4
- F9 39.8 - F9 39.8 - F10 50.8
10 ~ E96 Basta kontrakt 11 4 K103 Basta kontrakt 12 4532 Basta kontrakt
Ost v K5432 2v S =110 Syd v 95 3v VD-1100 Vast v Kn32 34 N =140
Alla ¢ E107 Ingen ¢ K10652 NS ¢ Kn87
*K6 & ¢ v & NT *E86 & ¢ v & NT #E543 & ¢ v & NT
D32 # 10875 N57 867 4E7642 «DKn5 N9 95538 K9 « Kn864 N 9 104 9 6
vD10 vE76 S58867 vDKn83 vE10742 SS9 9557 v 107 vKD98654 S 9 104 9 6
¢ KKn53 498 085476 ¢ 743 ¢ DKn 04 4885 ¢ K642 5 0427 44
#EKn72 #D1093 V85476 &4 #KD5 V44885 #D8762 #Kn V42744
4 KKn4 498 4 ED107
v Kn98 v K6 vE
¢ D642 ¢ E98 ¢ ED1093
#854 #Kn109732 *K109
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
E9 E8 340-3 v8 300 980 0.0 E3 E5 4v0-3 49 150 970 1.0| D14 D17 3NN= vK 600 980 0.0
F11 F1L 24 O-2 vJ 200 940 40| Cil1 C5 4v0O-3 49 150 970 10| Fi3 F6 4vDO-3 vA 500 96.0 20
F16 F12 34 0-2 vJ 200 940 4.0| Fi3 F6 3#S= &A 110 940 4.0 B3 Bl 4vDO-2 vA 300 89.0 9.0
G102 G118 2¢ V-2 ¢A 200 94.0 4.0 E2 E6 4v0O-2 &J 100 76.0 220| Al2 A2 4vDO-2 #9 300 89.0 9.0
G106 G119 INN+2 #9 150 90.0 8.0 E7 E1 4v0-2 ¢A 100 76.0 22.0| F12 F2 49yDO-2 vA 300 89.0 9.0
Bl12 B2 3y N= T 140 85.0 13.0 E9 E8 4v0O-2 #J 100 76.0 220| D20 D6 4vDO-2 ¢A 300 89.0 9.0
F15 F4 29 N+1 &7 140 850 13.0| B10 B8 4v O-2 «#J 100 76.0 22.0|G112 G102 4vDO-2 «A 300 89.0 9.0
D19 D10 2vy N+1 9 140 850 13.0| B11 B5 4vO-2 #J 100 76.0 22.0(G113 G106 4vDO-2 vA 300 89.0 9.0
G114 G110 2v N+1 ¢9 140 85.0 13.0| Al2 A2 3vO-2 &9 100 76.0 22.0| F16 F1 4¢ S= T 130 810 17.0
F2 F18 2v N= +9 110 760 220( B12 B2 3vO-2 #J 100 76.0 22.0(G114 G111 3¢ N+1 vK 130 81.0 17.0
E3 E5 2¢vN= ¢9 110 76.0 22.0| F12 F2 49 O-2 A 100 76.0 220| Cl11 C5 3¢ S= T 110 78.0 20.0
All A5 2vyN= ¢8 110 76.0 22.0| D16 D15 4v O-2 A 100 76.0 22.0 C3 Cl1 3NDO-1 vT 100 69.0 29.0
D15 D14 2v N= ¢9 110 76.0 22.0| D18 D13 4v O-2 49 100 76.0 22.0 E3 E5 4vDO-1 vA 100 69.0 29.0
F17 F8 2¢v N= ¢9 110 76.0 22.0| D19 D12 2¢yDO-1 #J 100 76.0 22.0 F4 F8 3vyDO-1 #8 100 69.0 29.0
A3 Al 34V-1 v2 100 64.0 34.0(G104 G108 4v O-2 #J 100 76.0 22.0 D8 D4 4v0-2 9 100 69.0 29.0
D4 D6 24 V-1 ¢8 100 64.0 34.0|G112 G102 44 O-2 #J 100 76.0 220 C10 C8 4vO-2 «A 100 69.0 29.0
D7 D3 INV-1 ¢3 100 64.0 34.0|G113 G106 3v O-2 #J 100 76.0 220 F10 F20 3vDO-1 ¢9 100 69.0 29.0
A0 A8 2NO-1 ¢4 100 64.0 34.0|G115 G105 4v O-2 49 100 76.0 22.0| F17 F9 49 O0-2 A 100 69.0 29.0
E1I0 E4 24 0O-1 8 100 64.0 340|G116 G101 4v O-2 A 100 76.0 22.0|G104 G108 3vyDO-1 vA 100 69.0 29.0
F13 F5 14 O-1 8 100 64.0 34.0|G119 G107 4v O-2 3 100 76.0 22.0 A3 Al 3vO-1 &K 50 550 430
G111 G101 INV-1 v2 100 64.0 34.0 D1 D11 3¥vO-1 +¢A 50 450 530 C7 C6 3vO-1 «A 50 55.0 430
A9 A4 2¢ S= A 90 56.0 42.0 B3 Bl 3¥vO-1 #J 50 45.0 53.0| F15 F5 49 O0-1 &K 50 550 43.0
C3 Cl 140= v8 -80 54.0 44.0 D5 D7 3vV-1 &A 50 450 53.0( F18 F3 3vO-1 #9 50 550 43.0
B7 B6 INV= v2 -90 51.0 47.0 A7 A6 2vO-1 49 50 450 53.0( F19 F7 3vO-1 A 50 550 43.0
Al2 A2 2&4V= ¢7 -90 51.0 47.0 B7 B6 3¥O-1 #J 50 450 53.0|G116 G101 4v O-1 A 50 55.0 43.0
D1 D9 3vyN-1 &5 -100 37.0 610 C7 C6 2NO-1 #7 50 450 53.0 D2 D10 4¢ S-1 T -100 39.0 59.0
B3 Bl 3vN-1 ¢9 -100 37.0 61.0 C9 C4 3vO-1 #J 50 450 53.0 D5 D7 4¢ S-1 T -100 39.0 59.0
F6 F19 2¢N-1 9 -100 37.0 61.0 D9 D3 3vO-1 ¢A 50 450 530 A7 A6 44 N-1 vK -100 39.0 59.0
C7 C6 2¢vN-1 ¢9 -100 37.0 61.0| C10 C8 24V-1 ¢2 50 450 53.0 E7 E1 4¢S-1 T -100 39.0 59.0
E7 E1 3vyN-1 &3 -100 37.0 610| E1I0 E4 3vO-1 «J 50 450 53.0 A9 A4 44 N-1 vK -100 39.0 59.0
C9 C4 2¢vN-1 ¢9 -100 37.0 61.0| A1l A5 3v0O-1 49 50 450 53.0| EI0 E4 44 N-1 vK -100 39.0 59.0
Cl0 C8 2vyN-1 9 -100 37.0 61.0| F16 F1 3vO-1 A 50 450 53.0| B12 B2 44 N-1 5 -100 39.0 59.0
Cl1 C5 2vyN-1 +9 -100 37.0 61.0|G110 G120 3v O-1 #J 50 450 53.0| D18 D13 24 S-1 T -100 39.0 59.0
D17 D12 2vy N-1 #9 -100 37.0 61.0|G117 G109 3v O-1 49 50 450 53.0( D19 D12 4¢ S-1 T -100 39.0 59.0
F20 FO9 2¢y N-1 &9 -100 37.0 61.0| D20 D6 INO= &J -90 30.0 68.0|G119 G107 4¢ S-1 T -100 39.0 59.0
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G113 G105 2v N-1 +8 -100 37.0 61.0 A9 A4 44DS-1 vQ -100 28.0 70.0| B1O B8 3v¥y O= #A -140 28.0 70.0
G120 G109 2¢v N-1 +9 -100 37.0 61.0 D2 D10 24 O= ¢A -110 19.0 79.0 (G110 G120 44 N-2 vK -200 24.0 74.0
A7 A6 34V= ¢A -110 21.0 77.0 F4 F8 2v O= #J -110 19.0 79.0 (G117 G109 4¢ S-2 T -200 24.0 74.0
D8 D2 3 V= v5 -110 21.0 77.0 D8 D4 2v O= #J -110 19.0 79.0 (G118 G103 34 S-2 ¢T -200 24.0 74.0
B10 B8 24 O= v8 -110 21.0 77.0| F10 F20 2v O= #J -110 19.0 79.0 D1 D11 54N-3 +7 -300 15.0 83.0
D18 D11 2#V+1 46 -110 21.0 77.0| F15 F5 2v O= #J -110 19.0 79.0 E2 E6 54 N-3 vA -300 15.0 83.0
D13 D16 INV+2 2 -150 16.0 82.0| F19 F7 2¢» 0= ¢A -110 19.0 79.0 B7 B6 34 N-3 vK -300 15.0 83.0
E2 E6 3v N-2 47 -200 9.0 89.0|G114 G111 2v O= &7 -110 19.0 79.0| A1l A5 3NN-3 vQ -300 15.0 83.0
F3 F7 3» N-2 #9 -200 9.0 89.0(G118 G103 2¢» O= ¢A -110 19.0 79.0| B1l B5 54 N-3 45 -300 15.0 83.0
B11 B5 3¥y N-2 ¢9 -200 9.0 89.0| A10 A8 2vO+1 49 -140 8.0 90.0( D16 D15 4#N-3 5 -300 15.0 83.0
D20 D5 3¥y N-2 #Q -200 9.0 89.0( F17 F9 3vyO= ¢A -140 80 90.0| AI0 A8 5#N-4 5 -400 8.0 90.0
G103 G107 2¢v N-2 #9 -200 9.0 89.0| F18 F3 3»O= 9 -140 8.0 90.0 D9 D3 44 S-5 v7 -500 6.0 92.0
G117 G108 3v N-2 &5 -200 9.0 89.0 C3 Cl1 2vO+2 +8 -170 4.0 94.0 C9 C4 3vDO= +Q -530 4.0 940
G115 G104 3v N-3 +9 -300 1.0 97.0 A3 Al 4a4 V= v9 -420 2.0 96.0 E9 E8 2¢DO+1 ¢A -570 2.0 96.0
G116 G112 2NN-3 #3 -300 1.0 97.0| D14 D17 54DS-3 vQ -500 0.0 98.0|G115 G105 54DN-4 5 -1100 0.0 98.0
- B4 56.0 - B4 56.0 - B4 56.0
- C2 42.0 - C2 42.0 - C2 42.0
- F10 50.8 - F11 52.7 - F11 52.7
13 4 K975 Basta kontrakt 14 4632 Basta kontrakt 15 4 Kn86 Basta kontrakt
Nord v Kn83 24 V =-110 Ost v 109653 34 O =-140 Syd v EKn102 2NTV =-120
Alla +E8 Ingen ¢ 542 NS + Kn2
*E872 & ¢ v & NT #65 & ¢ v & NT #ED75 & ¢ v & NT
410843 «EDKnN6 N7 8756 4 ED109 4874 N5 3844 a4 « EKD109 N47 544
v52 vKD107 S78756 v72 v DKn S53844 v 7543 vKD6 S 47544
+ D76 4932 0555765 ¢+ E8763 ¢ KDKn 079595 + D64 ¢+ K3 09 6 8 88
#KD43 &Kn9 V55587 *97 #K10432 V79495 #106432 #KKn9 V96 888
a2 & KKn5 47532
v E964 v EK84 v98
+ KKn1054 + 109 + E109875
#1065 #EDKnN8 *8
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
D19 D14 2v O-3 42 300 98.0 0.0 F5 F9 4v N= 42 420 98.0 0.0 D1 D15 3NO-4 ¢9 200 98.0 0.0
El E9 44 V-2 ¢A 200 93.0 50| Cl1 C6 24DV-2 #6 300 96.0 2.0 El E9 34 O-2 #8 100 90.0 8.0
D6 D8 24 V-2 ¢A 200 93.0 5.0 El E9 3v N+1 ¢K 170 94.0 4.0 B4 B2 44 O-2 #8 100 90.0 8.0
A8 A7 24 V-2 ¢A 200 93.0 5.0 C9 C5 2NS+1 6 150 92.0 6.0 C4 C2 44 O-2 &8 100 90.0 8.0
G108 G119 34 V-2 +¢A 200 93.0 5.0 Cl C10 3v N= ¢K 140 79.0 19.0 A9 A5 44 O-2 48 100 90.0 8.0
B4 B2 INS+1 44 120 84.0 14.0 A4 A2 2v S+1 &7 140 79.0 19.0 C9 C5 44 0-2 8 100 90.0 8.0
E8 E2 2NN-= v7 120 84.0 14.0 C4 C2 2vy N+1 ¢K 140 79.0 19.0 (G106 G110 3NO-2 T 100 90.0 8.0
C9 C5 INS+1 5 120 84.0 14.0 D6 D8 3v S= #9 140 79.0 19.0 | G117 G111 34 O-2 +A 100 90.0 8.0
D20 D7 INS+1 48 120 84.0 14.0 E8 E2 3vy N= ¢K 140 79.0 19.0 F2 F4 24 O-1 #8 50 78.0 20.0
G111 G120 INS+1 &K 120 84.0 14.0( Bl1 B6 3vy N= ¢Q 140 79.0 19.0 B8 B7 24 O-1 &8 50 78.0 20.0
B11 B6 3« N= vQ 110 77.0 21.0| D15 D18 3v S= «9 140 79.0 19.0| D10 D6 34 O-1 v9 50 78.0 20.0
F15 F6 2# N+1 v7 110 77.0 21.0 | F15 F6 2v S+1 &A 140 79.0 19.0( F15 F7 3NV-1 T 50 78.0 20.0
Cl C10 24 O-1 &T 100 63.0 35.0( F16 F2 2v S+1 #9 140 79.0 19.0( F16 F3 34 O-1 #8 50 78.0 20.0
D3 D11 24 V-1 ¢A 100 63.0 35.0( F18 F4 3v S= «8 140 79.0 19.0| Cl1 C6 14 O= 48 -80 72.0 26.0
E3 E7 24 V-1 v3 100 63.0 350 D19 D14 3v N= K 140 79.0 19.0 Al Al10 14 O+1 ¢A -110 60.0 38.0
E4 E6 24 O-1 ¢A 100 63.0 35.0 (G105 G109 3v S= A 140 79.0 19.0 Bl B10 24 O= ¢A -110 60.0 38.0
F5 F9 1v O-1 42 100 63.0 35.0 Bl B10 2NS= +3 120 66.0 32.0 Cl Cl10 14 O+1 8 -110 60.0 38.0
B8 B7 24 V-1 ¢A 100 63.0 350 F11 F20 2v» N= K 110 64.0 34.0 D3 D13 14 O+1 ¢A -110 60.0 38.0
F8 F19 2v O-1 42 100 63.0 35.0 D2 D12 INO-2 vA 100 58.0 40.0 E3 E7 14 O+1 ¢A -110 60.0 38.0
B12 B3 2¢v V-1 ¢A 100 63.0 35.0( D17 D16 3#0-2 vA 100 58.0 40.0 E8 E2 24 O= &8 -110 60.0 38.0
D17 D16 24 V-1 ¢A 100 63.0 35.0 (G108 G119 3¢DO-1 vA 100 58.0 40.0( B12 B3 24 O= &8 -110 60.0 38.0
F17 F10 24 V-1 ¢A 100 63.0 35.0 (G114 G112 34 V-2 T 100 58.0 40.0 | F13 F8 14 O+1 ¥9 -110 60.0 38.0
G116 G102 2v O-1 &5 100 63.0 35.0 (G118 G104 2NO-2 vA 100 58.0 40.0| F17 F11 14 O+1 #8 -110 60.0 38.0
G118 G104 24 V-1 +¢A 100 63.0 35.0 D3 D11 4¢ V-1 5 50 49.0 49.0( D18 D17 14 O+1 ¢9 -110 60.0 38.0
Al Al10 2¢ S= #3 90 43.0 55.0 A8 A7 3¢ V-1 T 50 49.0 49.0 ( D20 D8 24 O= v9 -110 60.0 38.0
D1 D13 INS= #3 90 43.0 55.0 B8 B7 3¢ V-1 &6 50 49.0 49.0 D7 D9 2NO= v9 -120 45.0 53.0
D2 D12 INS= #K 90 43.0 55.0( D20 D7 2NO-1 vA 50 49.0 49.0 A8 A7 2NO= +7 -120 45.0 53.0
A4 A2 INS= v2 90 43.0 55.0 Al Al10 4v S-1 &A -50 40.0 58.0| B11 B6 2NO= ¢5 -120 45.0 53.0
C8 C7 INS= 4 90  43.0 55.0 D1 D13 4v N-1 2 -50 40.0 58.0| F18 F5 INO+1 5 -120 45.0 53.0
F16 F2 INS= v5 90 43.0 55.0 B4 B2 3v N-1 +¢K -50 40.0 58.0 A4 A2 34 0O= A -140 27.0 71.0
F18 F4 2¢ S= «K 90 43.0 55.0 A9 A5 4v N-1 +K -50 40.0 58.0 D4 D12 14 O+2 v9 -140 27.0 71.0
G107 G113 INS= 4 90 43.0 55.0( D10 D4 4v N-1 +K -50 40.0 58.0 F9 F19 14 O+2 7 -140 27.0 710
F1 F3 2vS-1 #3 -100 28.0 70.0( Bl12 B3 3vy N-2 ¢K -100 34.0 64.0| E10 E5 34 O= &8 -140 27.0 71.0
C4 C2 3¢S-1 5 -100 28.0 70.0 D9 D5 2¢ V+1 ¥3 -110 30.0 680 All A6 34 O= ¢9 -140 27.0 71.0
F7 F13 3vS-1 4 -100 280 70.0( A1l A6 2¢ V+1 T -110 30.0 68.0| D11 D5 34 O= v9 -140 27.0 71.0
Cll C6 2¢ S-1 &3 -100 28.0 70.0 (G116 G102 3¢ O= #J -110 30.0 68.0| D16 D19 34 O= 8 -140 27.0 71.0
F11 F20 3¢ S-1 ¥5 -100 28.0 70.0 F1 F3 INO+1 #A -120 21.0 77.0( F20 F12 24 O+1 &8 -140 27.0 71.0
D15 D18 INS-1 #3 -100 28.0 70.0 E4 E6 2NO= #J -120 21.0 77.0|G101 G114 14 O+2 ¢A -140 27.0 71.0
G105 G109 INS-1 #K -100 28.0 70.0 C8 C7 2NO= #Q -120 21.0 77.0|G102 G104 34 O= v9 -140 27.0 71.0
Bl B10 24 V= ¢A -110 19.0 79.0( EI10 E5 INO+1 ¥4 -120 21.0 77.0|G109 G119 14 O+2 #8 -140 27.0 71.0
D9 D5 2& V= ¢A -110 19.0 79.0|G107 G113 INO+1 ¥8 -120 21.0 77.0|G113 G108 34 O= ¢A -140 27.0 71.0
Al2 A3 2NO+1 42 -150 16.0 82.0 (G111 G120 2NO= &#A -120 21.0 77.0|G115 G107 24 O+1 v9 -140 27.0 71.0
D10 D4 INS-2 #3 -200 11.0 87.0 E3 E7 24 V+1 3 -140 11.0 87.0|G118 G105 34 O= v9 -140 27.0 71.0
E10 E5 2¢ S-2 #K -200 11.0 87.0 F7 F13 24 V+1 ¥3 -140 11.0 87.0 C8 C7 2NO+1 #8 -150 11.0 87.0
G101 G103 2v S-2 &K -200 11.0 87.0| F17 F10 24 V+1 T -140 11.0 87.0|G120 G112 2NO+1 +6 -150 11.0 87.0
G115 G106 2#DN-1 #J -200 11.0 87.0|G117 G110 24 V+1 2 -140 11.0 87.0 E4 E6 24 O+2 v9 -170 8.0 90.0
G114 G112 2NN-3 vK -300 5.0 93.0 F8 F19 4v N-3 48 -150 6.0 92.0 D2 D14 3NO= v9 -400 4.0 940
G117 G110 14 N-3 #J -300 5.0 93.0|G101 G103 34 V+1 T -170 4.0 94.0 F6 F10 3NO= v9 -400 4.0 94.0
A9 A5 3vS-5 T -500 2.0 96.0 (G115 G106 44 V= vT -420 2.0 96.0|G1l16 G103 3NV = &7 -400 4.0 94.0
All A6 4vDS-3 #K -800 0.0 980| Al12 A3 3¢DV= ¥6 -470 0.0 980| Al2 A3 44 0= v9 -420 0.0 98.0
- B5 56.2 - B5 56.2 F1 - 36.4
- C3 34.5 - C3 34.5 - B5 56.2
- F12 67.0 - Fi12 67.0 - C3 345
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16 & KKn83 Basta kontrakt 17 462 Basta kontrakt 18 4108 Basta kontrakt
Vast v73 5v V =-650 Nord v 9653 54 O =-450 Ost v 763 5NT S =660
ov ¢ Kn1096 Ingen ¢ 10952 NS + KD6
*K94 & ¢ v & NT «K107 & ¢ v & NT #ED872 & ¢ v & NT
4964 « 107 NO3 151 «EKD10 #4Kn985 N36424 4752 « EKn3 N 11107 1111
v84 v EKD652 S03050 vKKn742 v8 S36424 vDKn9854 v K2 S 11107 1111
¢KD72  +E8 O 109 118 9 ¢ KD7 ¢ EKn 097 9 118 ¢ 872 ¢10543 013611
#Knl1052 #ED3 VvV 109 118 9 &2 #Kn98543 VvV 9 7 9 118 &Kn #6543 V13611
4 ED52 4743 4 KD964
v Kn109 vED10 vE10
¢ 543 + 8643 ¢ EKn9
»876 #ED6 *K109
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
C5 C3 2vO+1 42 -140 98.0 0.0 C2 C10 3NV-2 T 100 97.0 1.0 B5 B3 44S+2 #J 680 97.0 1.0
C9 C6 1vO+3 «A -170 950 3.0| D19 D18 3NV-2 45 100 97.0 1.0|G108 G115 44 S+2 #J 680 970 1.0
F13 F8 2v O+2 &6 -170 95.0 3.0 Bl B8 540-1 3 50 90.0 8.0 Cl C8 3NS+2 v4 660 87.0 11.0
Al A8 3vO+2 A -200 88.0 10.0( F16 F4 44 O-1 ¢6 50 90.0 8.0 F3 F5 3NN+2 ¢3 660 87.0 11.0
A2 Al10 3vO+2 A -200 88.0 10.0| F19 F10 3NV-1 ¢2 50 900 8.0 E5 E7 3NS+2 v4 660 87.0 11.0
F6 F10 2v O+3 A -200 88.0 10.0 (G108 G115 44 O-1 +8 50 900 80| D11 D7 3NS+2 vQ 660 87.0 11.0
F15 F7 2v O+3 vJ -200 88.0 10.0|G120 G101 44 V-1 46 50 90.0 8.0|G103 G105 3NN+2 3 660 87.0 11.0
G116 G103 1v O+4 «A -200 88.0 10.0 E4 E8 24V= T -110 81.0 17.0|G117 G112 3NS+2 vQ 660 87.0 11.0
F2 F4 1v O+5 #8 -230 79.0 19.0 A7 All 1y V+1l 2 -110 81.0 17.0|G119 G110 3NS+2 vQ 660 87.0 11.0
Al2 A4 3v O+3 #8 -230 79.0 19.0 C9 C6 2vV= T -110 81.0 17.0|G120 G101 3NN+2 +6 660 87.0 11.0
G106 G110 3v O+3 &7 -230 79.0 19.0| F20 F1 24 V= T -110 81.0 17.0 E2 El 44S+1 #J 650 77.0 21.0
G120 G112 3v O+3 vJ -230 79.0 19.0 A2 Al0 1y V+2 &2 -140 74.0 240 A9 A6 44 S+1 #J 650 77.0 21.0
C2 C10 3vO+4 &6 -260 72.0 26.0| Al2 A4 24 V+1l &7 -140 74.0 24.0 Al A8 3NS+1 vQ 630 62.0 36.0
F16 F3 2¢ O+5 #8 -260 72.0 26.0| F18 F6 34 O= vA -140 74.0 24.0 Bl B8 3NS+1 v4 630 62.0 36.0
G102 G104 2v O+5 %8 -260 72.0 26.0 F8 F15 24 O+2 &6 -170 69.0 29.0 B2 B10 3NS+1 vQ 630 62.0 36.0
D20 D8 3NO= 42 -600 68.0 30.0| E1I0 E6 24 O+2 ¢8 -170 69.0 29.0 E4 E8 3NS+1 vQ 630 62.0 36.0
D4 D12 49y O= &A -620 63.0 35.0 B2 B10 34 O+2 ¢8 -200 63.0 35.0 B7 B1ll 3NS+1 vQ 630 62.0 36.0
F18 F5 4v O= &A -620 63.0 35.0 C5 C3 24V+3 &7 -200 63.0 35.0 F7 F11 3NS+1 vQ 630 62.0 36.0
G109 G119 4v V= 48 -620 63.0 35.0|G116 G104 3+ O+2 #A -200 63.0 35.0 F8 F15 3NS+1 vQ 630 620 36.0
G118 G105 4v O= &A -620 63.0 35.0|G117 G112 34 V+2 2 -200 63.0 35.0| E1I0 E6 3NS+1 v8 630 620 36.0
D3 D13 4v O+1 &6 -650 48.0 50.0 (G118 G106 3NV=  ¢2 -400 580 40.0( D17 D1 3NS+1 vQ 630 62.0 36.0
E4 E8 4vO+1 42 -650 48.0 50.0 Cl C8 44 0= 46 -420 45.053.0| D19 D18 3NS+1 ¥v9 630 62.0 36.0
A5 A3 4v O+l A -650 48.0 50.0 D2 D16 44 O= #6 -420 450 53.0| F19 F10 3NS+1 vQ 630 620 36.0
E5 E7 4vO+1 vJ -650 48.0 50.0 E2 E1 44 O= ¢4 -420 45.0 53.0| F20 F1 3NS+1 5 630 62.0 36.0
A7 All 4v O+1 A -650 48.0 50.0 D4 D14 44 V= &7 -420 450 53.0 G109 G113 3NS+1 vQ 630 62.0 36.0
C7 Cl1 49 O+1 &A -650 48.0 50.0 B5 B3 44 O= ¢8 -420 45.0 53.0| F18 F6 44 S= #J 620 48.0 50.0
E9 E3 4vO+1 4A -650 48.0 50.0 B7 Bll 44 O= 43 -420 45.0 53.0 A2 Al10 3NS= v4 600 34.0 64.0
F9 F19 4v O+1 &A -650 48.0 50.0 C7 Cl1 44 O= &A -420 45.0 53.0 D2 D16 3NS= v8 600 34.0 64.0
G101 G114 4v O+1 vJ -650 48.0 50.0 E9 E3 4eV=  ¢2 -420 45.0 53.0 D3 D15 3NS= vQ 600 34.0 64.0
G115 G107 4v O+1 «A -650 48.0 50.0| B12 B4 44 O= #6 -420 45.0 53.0 A5 A3 3NS= v4 600 34.0 64.0
G117 G111 4v O+1 42 -650 48.0 50.0|G103 G105 44 O= 4 -420 45.0 53.0 D5 D13 3NS= v4 600 34.0 64.0
Bl B8 4vO+2 vJ -680 27.0 71.0|G107 G111 44 O= #A -420 45.0 53.0 A7 All 3NS= v4 600 34.0 64.0
D1 D15 4vy O+2 #6 -680 27.0 71.0|G114 G102 44 O= ¢8 -420 45.0 53.0 D8 D10 3NS= vQ 600 34.0 64.0
B2 B10 4v O+2 #8 -680 27.0 71.0 Al A8 3NO+1 vQ -430 30.0 68.0 F9 F13 3NS= v5 600 34.0 64.0
B5 B3 4vO+2 vJ -680 27.0 71.0 F7 F11 3NV+1 5 -430 300 68.0( Al2 A4 3NS= v4 600 34.0 64.0
D10 D6 4v0O+2 ¥vJ -680 27.0 71.0| D20 D9 3NV+1 T -430 300 68.0| D12 D6 3NS= vQ 600 34.0 64.0
D11 D5 4vO+2 #8 -680 27.0 71.0 A5 A3 44 O+1 #A -450 19.0 79.0( F16 F4 3NS= v8 600 34.0 64.0
D16 D19 4v O+2 vJ -680 27.0 71.0 D5 D13 44 O+1 +8 -450 19.0 79.0| D20 D9 3NS= v9 600 34.0 64.0
F17 F11 4v O+2 vJ -680 27.0 71.0 E5 E7 4eV+1l T -450 19.0 79.0|G118 G106 3NS= vQ 600 34.0 64.0
D18 D17 4v O+2 vJ -680 27.0 71.0 D8 D10 44 O+1 ¢4 -450 19.0 79.0 C9 C6 4vV-5 T 250 20.0 78.0
G113 G108 4v O+2 vJ -680 27.0 71.0 A9 A6 44 O+1 3 -450 19.0 79.0| B12 B4 INN+3 vK 180 18.0 80.0
Cl C8 4v0+3 vJ -710 8.0 90.0 F9 F13 44 O+1 vA -450 19.0 79.0 C5 C3 44N+2 43 170 16.0 82.0
D2 D14 4v O+3 #8 -710 8.0 90.0 (G109 G113 44 O+1 ¢4 -450 19.0 79.0 (G116 G104 4v O-3 #A 150 14.0 84.0
E2 E1 4v0O+3 &8 -710 8.0 90.0|G119 G110 44 O+1 #A -450 19.0 79.0|G107 G111 34 S= v4 140 12.0 86.0
B7 Bll 4v O+3 #8 -710 8.0 90.0 D3 D15 44 O+2 T -480 5.0 93.0 C7 Cl1 2vV-2 T 100 10.0 88.0
D7 D9 4v0O+3 «7 -710 8.0 90.0 F3 F5 44 O+2 ¢4 -480 5.0 93.0 D4 D14 44 S-1 vQ -100 6.0 92.0
A9 A6 4v O+3 vJ -710 8.0 90.0| D11 D7 44 O+2 T -480 5.0 93.0 E9 E3 5#N-1 ¢4 -100 6.0 92.0
E1I0 E6 4v O+3 #8 -710 80 900| D12 D6 44 O+2 #A -480 5.0 93.0|G114 G102 5#N-1 ¢4 -100 6.0 92.0
Bl12 B4 4vO+3 &8 -710 80 900| D17 D1 44 O+2 8 -480 5.0 93.0 C2 C10 3¢ S-3 «J -300 1.097.0
F20 F12 4v O+3 #8 -710 8.0 90.0| F17 F12 44 O+2 #A -480 5.0 93.0| F17 F12 6NS-3 vQ -300 1.0 97.0
F1 - 36.4 - B6 49.6 - B6 49.6
- B6 49.6 - C4 66.1 - C4 66.1
- C4 66.1 - F2 50.9 - F2 50.9
19 4 D98 Basta kontrakt 20 4532 Basta kontrakt 21 «E107 Basta kontrakt
Syd v 1093 4v V =-620 Vast v Kn75 2NTN =120 Nord v KKn5 6NT V =-990
oV + D965 Alla ¢ DKn108 NS ¢ 87642
»EK6 & ¢ v & NT #KKn9 % ¢ v & NT *94 & ¢ v & NT
« EK106 4Kn72 N6 4343 4 Kn10984 &K76 N8 8 758 D aKKn6432 N1 3 511
vKn7 v ED865 S 64343 vD109 vE632 S88758 vD73 vE2 S13511
¢ E1087 ¢ KKn3 07 9 109 9 ¢42 ¢ EK76 045685 ¢EKN105 D O 129 8 1211
#Kn103 D9 vV 79 109 9 832 «D6 V45675 #KKn1086 #ED52 VvV 12108 1212
4543 «ED 4985
v K42 v K84 v 109864
42 ¢ 953 ¢ K93
#87542 #E10754 *73
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
D6 D14 3NV-3 #A 300 96.0 2.0 C3 C10 3NO-5 «4 500 98.0 0.0 D2 D1 6#V-2 ¢5 100 98.0 0.0
Al2 A5 3NV-3 5 300 96.0 20| F15 F9 2NO-4 &5 400 95.0 3.0 F5 F7 44 O-1 &7 50 95.0 3.0
G115 G109 5¢ V-3 #A 300 96.0 20| D18 D2 INO-4 #A 400 950 3.0 C9 C7 3NO-1 T 50 950 3.0
A2 Al 3NV-2 5 200 83.0 15.0 F4 F6 1¢ O-3 &5 300 88.0 10.0 A2 Al 4#V+1l «A -150 91.0 7.0
B3 B10 3NV-2 &A 200 83.0 15.0 D5 D15 44 V-3 «K 300 880 10.0( F16 F6 3#V+2 ¢5 -150 91.0 7.0
D3 D17 3NV-2 #K 200 830 150| E1I0 E7 INO-3 &5 300 880 10.0( D10 D12 24 O+3 T -200 88.0 10.0
ES5 E9 3NV-2 &A 200 83.0 150| Al2 A5 44 0-3 «A 300 88.0 10.0 A3 Al10 3NO= T -400 84.0 14.0
B6 B4 3NV-2 &K 200 83.0 150|G105 G116 INO-3 5 300 88.0 10.0 A9 A7 3NO= ¢T -400 84.0 14.0
A8 All 3NV-2 #6 200 83.0 15.0 E6 E8 340-2 3 200 78.0 20.0|G105 G107 3NO= ¢4 -400 84.0 14.0
F15 F9 3NV-2 &A 200 83.0 15.0 D9 D11 3v O-2 &A 200 78.0 20.0 F2 F17 5#V+1 v5 -420 77.0 21.0
D20 D10 3NV-2 #A 200 83.0 15.0| F17 F1 24 O-2 &A 200 78.0 20.0 A6 A4 5#V+1l #9 -420 77.0 21.0
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F20 F2 3NO-2 #8 200 83.0 15.0 (G119 G111 34 O-2 +2 200 78.0 20.0 B8 Bll 54V +1 &9 -420 77.0 21.0
G118 G107 3NV-2 #A 200 83.0 15.0 (G120 G102 24 O-2 &A 200 78.0 20.0 | G102 G117 5#V+1 ¥5 -420 77.0 21.0
D1 D19 3NO-1 &2 100 62.0 36.0 A6 A4 2NN+1 ¢A 150 72.0 26.0( D13 D9 3NO+1 ¥4 -430 70.0 28.0
D5 D15 3NV-1 &A 100 62.0 36.0 D6 D14 24 S+2 &J 130 70.0 28.0( D14 D8 3NV+l1 8 -430 70.0 28.0
B8 B1l 3NV-1 #A 100 62.0 36.0( D13 D7 2#S+1 «J 110 68.0 30.0( F18 F8 BNO+1 T -430 70.0 28.0
F8 F12 4v O-1 &2 100 62.0 36.0 El E4 24 O-1 &A 100 59.0 39.0 B2 Bl 44 O+1 T -450 57.0 41.0
A9 A7 4v O-1 ¢4 100 62.0 36.0 F5 F16 24 O-1 ¢5 100 59.0 39.0 E3 E2 44 O+1 &7 -450 57.0 41.0
E10 E7 3NO-1 #8 100 62.0 36.0( D12 D8 24 O-1 +3 100 59.0 39.0 D4 D18 44 O+1 v6 -450 57.0 41.0
F18 F7 3NO-1 #8 100 62.0 36.0( F18 F7 24 O-1 #A 100 59.0 39.0 E6 E8 44 O+1 T -450 57.0 41.0
G103 G114 44 V-1 &A 100 62.0 36.0 F20 F2 34 V-1 #K 100 59.0 39.0 D7 D15 44 O+1 &7 -450 57.0 41.0
G105 G116 3NV-1 +5 100 62.0 36.0| G103 G114 24 O-1 +3 100 59.0 39.0 A8 All 44 O+1 T -450 57.0 410
G108 G112 3NV-1 #A 100 62.0 36.0 (G104 G106 24 O-1 #A 100 59.0 39.0 C8 Cl11 44 O+1 T -450 57.0 41.0
G119 G111 4v O-1 ¢4 100 62.0 36.0 (G115 G109 34 O-1 #A 100 59.0 39.0( D19 D3 44 O+1 «T -450 57.0 41.0
C9 C7 2¢ V= &K -90 50.0 48.0 C9 C7 24S= ¢4 90 50.0 48.0 | G111 G113 44 O+1 T -450 57.0 41.0
C2 C1 3¢V= #A -110 43.0 55.0 A2 Al 2NS-1 «4 -100 46.0 52.0|G114 G104 54 O= T -450 57.0 41.0
A6 A4 2vO= #8 -110 43.0 55.0 A3 Al10 3#S-1 +2 -100 46.0 52.0 D5 D17 3NV+2 +2 -460 45.0 53.0
C8 Cl1 3¢ V= #A -110 43.0 55.0 A9 A7 3¢ N-1 46 -100 46.0 52.0 E5 E9 3NV+2 48 -460 45.0 53.0
F17 F1 2¢ V+1 &8 -110 43.0 55.0 D1 D19 24 O= ¢3 -110 23.0 750 El E4 44 O+2 T -480 31.0 67.0
G113 G110 2¢ V+1 #A -110 43.0 55.0 B2 Bl 24 O= ¢9 -110 23.0 75.0 C2 Cl1 464 0O+2 49 -480 31.0 67.0
G117 G101 2¢ V+1 #A -110 43.0 55.0 C2 Cl1 240= ¢8 -110 23.0 75.0 B3 B10 54 O+1 «T -480 31.0 67.0
A3 Al10 2NO= &2 -120 36.0 62.0 B3 B10 24 O= ¢3 -110 23.0 75.0 C3 C10 44 O+2 ¢3 -480 31.0 67.0
El E4 3vy O= &2 -140 33.0 65.0 D3 D17 24 O= #A -110 23.0 75.0 D6 D16 44 O+2 «T -480 31.0 67.0
F13 F10 2v O+1 %2 -140 33.0 65.0 E3 E2 24 O= #7 -110 23.0 75.0| Al2 A5 44 O+2 T -480 31.0 67.0
B2 Bl 3NV= 46 -600 24.0 740 D4 D16 24 O= &A -110 23.0 75.0| B12 B5 54 O+1 ¢3 -480 31.0 67.0
E3 E2 3NV= ¢+6 -600 24.0 74.0 E5 E9 24 O= ¢9 -110 23.0 75.0| F20 F3 44 V+2 &7 -480 31.0 67.0
F4 F6 3NV = +5 -600 24.0 74.0 B6 B4 24 O= #A -110 23.0 75.0|G110 G115 44 O+2 ¢T -480 31.0 67.0
F5 F16 3NV= +5 -600 24.0 740 C6 C4 24V-= ¢+Q -110 23.0 75.0|G118 G108 44 O+2 ¢3 -480 31.0 67.0
D9 D11 3NV= +5 -600 24.0 74.0 A8 All 24 O= &A -110 23.0 75.0|G119 G112 44 O+2 &3 -480 31.0 67.0
D12 D8 3NV-= ¢6 -600 24.0 74.0 B8 Bll 24 O= ¢9 -110 23.0 75.0|G120 G103 44 O+2 T -480 31.0 67.0
D18 D2 3NV = «A -600 24.0 74.0 F8 F12 24 O= &A -110 23.0 750 B6 B4 3NV+3 ¢4 -490 14.0 84.0
D4 D16 4v O= ¢4 -620 14.0 84.0| B12 B5 24 O= &4 -110 23.0 75.0 C6 C4 3NV+3 8 -490 14.0 84.0
G104 G106 4v O= ¢4 -620 14.0 840| F19 F11 24 O= #A -110 23.0 75.0 F9 F1 3NV+3 ¥5 -490 14.0 84.0
G120 G102 4v O= #2 -620 14.0 840| D20 D10 24 O= 9 -110 23.0 75.0| E10 E7 3NV+3 ¢8 -490 14.0 84.0
C6 C4 3NV+l &A -630 7.0 91.0|G108 G112 24 O= #A -110 23.0 750( D20 D11 3NV+3 8 -490 14.0 84.0
B12 B5 3NV+1 ¢3 -630 7.0 91.0|G113 G110 24 O= +9 -110 23.0 750( F19 F12 3NV+4 ¢5 -520 8.0 90.0
D13 D7 3NV+1 ¢5 -630 7.0 91.0(G117 G101 24 V= #K -110 23.0 75.0( F10 F15 6#V = aA -920 3.0 95.0
F19 F11 3NV+1 ¢5 -630 7.0 91.0|G118 G107 24 O= #A -110 23.0 750( F11 F13 640= &7 -920 3.0 95.0
C3 Cl10 4vO+1 &2 -650 2.0 96.0 C8 Cl1 24 O+1 #A -140 1.0 97.0|G109 G101 6#O= T -920 3.0 95.0
E6 E8 3NV+2 45 -660 0.0 98.0| F13 F10 24 O+1 3 -140 1.0 97.0(G116 G106 6& V = oA -920 3.0 95.0
F3 - 56.3 F3 - 56.3 - B7 43.0
- B7 43.0 - B7 43.0 - C5 41.8
- C5 41.8 - G5 41.8 - F4 32.0
22 a- Basta kontrakt 23 4874 Basta kontrakt 24 4653 Basta kontrakt
Ost vED32 5¢ SD-2-300 Syd v EK1076 4v S =620 Vast v 63 5v V =-450
ov ¢ KKn10932 Alla ¢ E32 Ingen * K74
#984 & ¢ v & NT #98 & ¢ v & NT #D10843 & ¢ v & NT
4 ED102 4 KKn83 N3 9843 4 KD532 #1096 N 8 7 106 8 « EKn108 497 N7 2233
vK107  vKn9 S39843 v Kn5 v 984 S 8 7 106 8 vKD105 v EKn987 S72233
¢+ E8 ¢ 74 09 4 3 8 10 ¢ Kn7 ¢+ D10864 046 364 ¢ EDKn10 ¢ 9853 O6 11118 8
#KD102 #E7653 V 104 5 8 10 #ED74 #Kn5 V 46 364 &2 »E6 V 6 11118 8
# 97654 & EKn & KD42
v 8654 v D32 v42
+ D65 + K95 462
«Kn #K10632 #KKn975
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
Al All 44 O-2 &#J 200 92.0 6.0 D1 D4 4y N+1 &T 650 98.0 0.0 F9 F18 6v O-1 44 50 97.0 1.0
D10 D12 44 V-2 &4 200 920 6.0 B3 B2 3NS+1 4K 630 95.0 3.0(G115 G111 6v V-1 &4 50 97.0 1.0
E10 E8 44 V-2 &9 200 92.0 6.0 C9 C8 3NS+1 42 630 95.0 3.0 E7 E9 3vy V+2 &3 -200 940 4.0
F10 F15 44 O-2 ¢Q 200 92.0 6.0 E4 E3 4¢vy N= 46 620 89.0 9.0 Al All 4v O+1 &5 -450 53.0 45.0
F18 F8 44 V-2 49 200 920 6.0 B6 Bl12 4v N= &5 620 89.0 9.0 D1 D4 4v V+1 #2 -450 53.0 45.0
F19 F12 44 O-2 ¢5 200 92.0 6.0 A9 A8 4v N= T 620 89.0 9.0 E2 E5 4v O+1 v4 -450 53.0 45.0
G102 G117 34 V-2 &4 200 92.0 6.0 E10 E8 4y N= T 620 89.0 9.0 A3 A2 4v O+1 &K -450 53.0 45.0
C7 C5 2¢ N+1 43 110 84.0 14.0 D6 D18 3NS= «2 600 84.0 14.0 B3 B2 4v O+1 v2 -450 53.0 45.0
Bl Bll 44 O-1 5 100 72.0 26.0 D11 D13 2vy N+3 T 200 82.0 16.0 C3 C2 4v0O0+1 &7 -450 53.0 45.0
A3 A2 44 V-1 &9 100 72.0 26.0 (G120 G104 2NS+2 ¢J 180 80.0 18.0 D3 D2 4v V+1 #4 -450 53.0 45.0
D4 D18 44 V-1 +9 100 72.0 26.0 B4 B10 3v N+1 T 170 76.0 22.0 A4 A10 4v O+1 &2 -450 53.0 45.0
A6 Al2 54 V-1 #9 100 72.0 26.0 E7 E9 3vy N+1 T 170 76.0 22.0 B4 B10 4vV+l1 ¥3 -450 53.0 45.0
B6 Bl2 44 O-1 5 100 72.0 26.0 (G106 G108 2v N+2 &T 170 76.0 22.0 C4 C10 4vV+1l &3 -450 53.0 45.0
D7 D15 44 V-1 &9 100 72.0 26.0 A3 A2 2NS+1 &2 150 68.0 30.0 E4 E3 4v O+1 v2 -450 53.0 45.0
F9 F1 44 O-1 #J 100 72.0 26.0 A7 A5 2NS+1 &K 150 68.0 30.0 D5 D19 4v O+1 &K -450 53.0 45.0
D13 D9 44 V-1 vA 100 72.0 26.0 B7 B5 2NS+1 43 150 68.0 30.0 A6 Al2 4vV+1 v6 -450 53.0 45.0
D20 D11 44 V-1 v2 100 72.0 26.0 D7 D17 2NS+1 &3 150 68.0 30.0 B6 B12 4v O+1 &K -450 53.0 45.0
G105 G107 44 V-1 #9 100 72.0 26.0 G107 G116 2NS+1 &2 150 68.0 30.0 D6 D18 4v O+1 &K -450 53.0 45.0
G110 G115 44 O-1 +Q 100 72.0 26.0| F12 F13 2¢v N+1 &6 140 57.0 41.0 E6 El 4v O+1 ¢5 -450 53.0 45.0
C4 CI10 5¢ N-1 &A -50 60.0 38.0| F15 F11 3v N= v9 140 57.0 41.0 F6 F8 4v O+1 &5 -450 53.0 45.0
Cl C11 5¢DN-1 #J -100 54.0 440| F17 F3 3y N= T 140 57.0 41.0 A7 A5 4v V+1l +4 -450 53.0 45.0
F2 F17 4¢DN-1 #A -100 54.0 440 D20 D12 3vy N= 46 140 57.0 41.0 B7 B5 4v O+1 &7 -450 53.0 45.0
B3 B2 54DN-1 43 -100 54.0 44.0|G109 G118 3vy N= &6 140 57.0 41.0 C7 C5 4v0O+1 6 -450 53.0 45.0
D19 D3 5¢DN-1 43 -100 54.0 440 (G110 G102 3vy N= T 140 57.0 41.0 D7 D17 4v V+1 &6 -450 53.0 45.0
G109 G101 4¢DN-1 vJ -100 54.0 44.0 Al All 24 S+1 7 110 48.0 50.0 F7 F16 4v O+1 ¥4 -450 53.0 45.0
D6 D16 24 V+1 #8 -140 48.0 50.0 F6 F8 2¢» N= +8 110 48.0 50.0 D8 D16 4v O+1 &K -450 53.0 45.0
C9 C8 2NV+2 +J -180 46.0 52.0| F19 F1 2¢v N= 46 110 48.0 50.0 C9 C8 4vV+l &4 -450 53.0 45.0
G120 G103 34 S-5 #6 -250 44.0 54.0 E2 E5 49 N-1 T -100 31.0 67.0| E10 E8 4v V+1 v6 -450 53.0 45.0
F11 F13 5¢DN-2 48 -300 41.0 57.0 D3 D2 4v N-1 49 -100 31.0 67.0( F10 F2 4v O+1 «Q -450 53.0 45.0
D14 D8 5¢DN-2 #A -300 41.0 57.0 A4 A10 4v N-1 T -100 31.0 67.0| D11 D13 4v V+l 46 -450 53.0 45.0
D2 D1 44 V= ¢T -620 33.0 65.0 C4 C10 4vN-1 T -100 31.0 67.0| F12 F13 4vV+l v6 -450 53.0 45.0
C3 C2 4e V= +J -620 33.0 65.0 D5 D19 3v N-1 6 -100 31.0 67.0| D14 D10 4v O+1 &K -450 53.0 45.0
A4  Al0 44 V= #8 -620 33.0 65.0 A6 Al2 4v N-1 9 -100 31.0 67.0| D15 D9 4v V+1 &6 -450 53.0 45.0
F16 F6 44 V= vA -620 33.0 65.0 E6 E1l 4v¥ N-1 46 -100 310 67.0| F15 F11 4vV+1 &5 -450 53.0 45.0
G116 G106 54 O+1 ¥vA -620 33.0 65.0 F7 F16 3NS-1 &K -100 31.0 67.0| F17 F3 4v O+1 &5 -450 53.0 45.0
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G119 G112 44 V= vA -620 33.0 65.0 D8 D16 4v N-1 T -100 31.0 67.0| D20 D12 4v V+1 ¢4 -450 53.0 45.0
B4 B10 3NV+1l ¢J -630 16.0 82.0 FO F18 4v N-1 T -100 31.0 67.0| F20 F4 4v O+1 ¢6 -450 53.0 45.0
D5 D17 3NV+1 +J -630 16.0 82.0| F10 F2 3» N-1 T -100 31.0 67.0 (G105 G114 4v O+1 &K -450 53.0 45.0
F5 F7 3NV+1 #8 -630 16.0 82.0( F20 F4 4v N-1 46 -100 31.0 67.0 (G106 G108 4v O+1 ¥4 -450 53.0 45.0
E6 E1l 3NV+1 ¢9 -630 16.0 82.0|G105 G114 4v N-1 T -100 31.0 67.0 (G107 G116 4v V+1 &8 -450 53.0 45.0
A7 A5 3NV+1 3 -630 16.0 82.0|G119 G101 3#S-1 4K -100 31.0 67.0|G109 G118 4v O+1 &K -450 53.0 45.0
B7 B5 3NV+1 ¢9 -630 16.0 82.0|G117 G103 14 V+1 vA -110 16.0 82.0 (G110 G102 4v O+1 &K -450 53.0 45.0
E7 E9 3NV+1 T -630 16.0 82.0 Bl Bll 4¢vy N-2 T -200 7.0 91.0|G117 G103 4v O+1 «Q -450 53.0 45.0
A9 A8 3NV+1 T -630 16.0 82.0 Cl Cl1 4v N-2 46 -200 7.0 910 Bl Bll 4vO+2 2 -480 7.0 91.0

F20 F3 3NV+1 ¢J -630 16.0 82.0 C3 C2 3y N-2 T -200 7.0 910 Cl Cl1 4vV+2 &2 -480 7.0 91.0

G111 G113 3NV+1 T -630 16.0 82.0 Cc7 C5 3¢ S-2 «Q -200 7.0 91.0( F19 F1 4v O+2 &K -480 7.0 91.0

G118 G108 3NV+1 49 -630 16.0 820| D14 D10 4vy N-2 T -200 7.0 91.0|G112 G113 4v V+2 #3 -480 7.0 91.0
E2 E5 44 V+1 vA -650 4.0 94.0| D15 D9 4v N-2 ¢4 -200 7.0 91.0(G119 G101 4v V+2 4 -480 7.0 91.0
E4 E3 3NV+2 ¢2 -660 2.0 96.0 (G112 G113 4v N-2 T -200 7.0 91.0|G120 G104 4v O+2 #6 -480 7.0 91.0

G114 G104 6# V= vA -1370 0.0 98.0|G115 G111 4v N-2 46 -200 7.0 91.0 A9 A8 54DS-3 4A -500 0.0 98.0
C6 - 35.3 F5 - 47.7 F5 - 47.7

- B8 51.1 C6 - 35.3 C6 - 35.3
- F4 32.0 - B8 511 - B8 51.1
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